No.005
Z 05

M1 &koXZEBELRIV,

® (a—2)(a+2b-3) @ (x—2y-5)(x—2)
= 020 b-30-20-46+6 =xLa-2xyvay- 5L 410

oo pao g4l = ->xY=WX 4y +10

M2 WOXZERLZRIWV,
@ (x+6)(y+2) @ (a—3)(b+2) ©) (a—b)(c—d)
=Y 2X+6Y412 =a€~+;a-3ﬂ~é = aC—ad%?c—béof

® (2x+1)(y=7) ©® (x+2)(x+4) © (x=2)(x—3)

= 2y 4y~ =xHA4d = O3NS
= 2 6)(+D = 2 Crd
@ (2a+b)(a+3b) (2a—b)(3a+4b)
= 2(12+6M+0u@+—5‘@1 = 5a&+&a,@f34,4\4—41
— 52408 + 34 — farptoh 44>
® (a+1)(a—b+2) (2x+y—-1)(6x—3y)
= a2 adw0ro- b = ortl b4 bny -39 L¢3 ]

= Q=08 +30 b+ 2 -3 4= X3



